6.1

(GS-RULE* CL-GOV->RIGHT.

($1 (@CL $2 GOV $3) $4)

((CL (& KLOCK (MEM K '(VCL SCL PARTCL RELCL))))
(GOV (& GOV AGOVLOCK CAT)))

($1 (CL $2 $3 GOV) $4)

((GOV (:= GOV GOVLOCK))) )

= GS-RULE (structural generation)
1 = CL-GOV->RIGHT

= ($1 (@CL $2 GOV $3) $4) "
ROOT

$1 4

$2 GOV $3



= 2 ?

= ($1 (CL $2 $3 GOV) $4) £

ROOT

$2 $3 GOV

GOV = Lock ?

521 1

The man hits the ball.

ROOT
/VCLI\
NP hits NP

ARGO->=#<Man>
ARG1->=#<Ball>

The man the b
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Man Argument O Ball Argument 1
CL-GOV->RIGHT

ROOT

f)

VCL

e

N NP hits

g

The man the ball

(GS-RULE* CL-ARG1 =ACT

($1 (@ARG1 $2) $3 GOV $4)

( (ROOT (& KLOCK APASSIVE (MEM K ‘(VCL SOL PARTCL RELCL))))
(ARG1 (& ARG1 "SFLOCK (N== R'RREL)))
(GOV (& GOV CAT)))

($1 $3 GOV $4 (ARG1 S2))

((ARG1 (:= 0BJ1 SFLOCK))))

= GS-RULE (structural generation)
= CL-ARG1 =ACT

; =($1 ((SARG1 $2) $3 GOV $4) ;
ROOT

1 ARG1 $3 GOV

A

$2
= Passive Voice

ARG1



ARG1 =

5.2.2

The

The

man

= ($1 $3 GOV $4 (ARG1 $2)) ~

ROOT
GOV ARG1
$2
(Objectl)
£ The man hits the ball.
ROOT
VCL
/l\
NP hits NP
man the ball
2

laughed
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ROOT

?

VOL

Pl

NP laughed
/\ARGO->:#<Man>
The man
Man Argument O CL-
GOV->RIGHT

ROOT

?

VCL

27Tk

laughed

The man

5.2.3 3

The man is small

ROOT

?

VCL

™

NP is AP

/\ARGO-> =#<Man> \

The man small



Man Argument 0

ARGO CL-GOV->RIGHT
ROOT
VCL
P
NP AP\is
7
The man small

!
(GS-RULE* CL-TRLO=COP

($1 (@TRLO $2) $3 GOV $4)

small Transfer to

( (ROOT (& COP KLOCK (MEM K '(VOL SCL PARTCL RELCL))))

(TRLO (& TRLO ASFLOCK))
(GOV (& COP GOV CAT)) )
($1 $3 GOV $4 (TRLO $2))

((TRLO (:= ATSUBJ SFLOCK) )))

= GS-RULE
= CL-TRLO=COP

= ($1 (@TRLO $2) $3 GOV $4)

ROOT
\

i TRLO $3 GOV

A

$2

(structural generation)



= ' TRLO

= ($1 $3 GOV $4 (TRLO $2))

ROOT

GOV TRLO

$2

TRLO =
subject)
The man is small.
ROOT
r)
\./OL
M \
NP is
e \
The man small
5.2.4 4

The man is a soldier.

124

(attribute of
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ROOT

T

/VCLI\
NP is NP

ARGO->=#<Man>
ARG1->=#<Soldier

The man a soldier

Man Argument O soldier 14Argument 1

CL-GOV->RIGHT
ROOT

VCL

C

N NP

AN i

man a soldier

(GS-RULE* CL-ARG1=ACT

($1 (@ARG1 $2) $3 GOV $4)

( (ROOT (& KLOCK APASSIVE (MEM K '(VCL SCL PARTCL RELCL))))
(ARG1 (&ARG1 ASFLOCK (N== R 'RREL)))
(GOV (& GOV CAT)))

($1 $3 GOV $4 (ARG $2))

((ARG1 (:= OBJ1 SFLOCK))))
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= GS-RULE (structural generation)
= CL-ARG1=ACT

=($1 (@ARGL $2) $3 GOV $4)
ROOT

T ARG1 $3 GOV

A

$2

= Passive Voice

ARG1
= ($1 $3 GOV $4 (ARG1 $2))
ROOT
7 GOV ARG1
\
$2
ARGl = (Objectl)

The man is a soldier.

ROOT

f

VCL

P e

is NP

The man a soldier



525

Dang was

Argument 1

>RIGHT

A

127

Passive Voice

punished by the teacher

ROOT

I
2NN

P was punish NP
ARGO->=#<Teacherp

ARG1->=#<Dang> N
Dang by the teacher
Teacher Argument O Dang
Passive Voice CL-GOV-
ROOT
@)
NP tip was punish

Dang Ey the tzeacher



(GS-RULE* CL-ARGO=PAS
($1 (@ RGO BY $2) $3 GOV $4)
( (ROOT (& PASSIVE KLOCK (MEM K '(VCL SCL PARTCL RELCL))))
(ARGO (& ARGO ASFLOCK ARREL))
(GOV (& GOV CAT)))
($1 Toog (ARGO BY $2) $3 GOV $4)
( (ARGO (:= CIRC SFLOCK) )
(Toog (:- (BUL" "))
(BY (= (BUL-3))

(GOV (:= (VAFFIX mmx)))) )

= GS-RULE (structural generation)
= CL-ARGO=PAS
£ = ($1 (@4RGO BY $2) $3 GOV $4) ~
ROOT

1 ARGO $3 GOV

7

BY $2

= £ Passive Voice

ARGO
£ ' = ($1 Toog (ARGO BY $2) $3 GOV $4) §
ROOT
Toog ARGO $3 Vv
BY $2
ARGO =

(Circumstantial)
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TOOG =
BY =

GOV = AFFIX

Dang was punished by the teacher.

ROOT
T

W
NP N was punish

[

Dang by the teacher

52.6

My father gave me a present

ROOT

NP gave NP NP
ARGO->=#<Father>

ARG1->=#<Present

ARG2->=#<Me>

My father me a present
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Father Argument O present Argument 1

me Argument 2 I CL-GOV->RIGHT
ROOT
T
V
P P P gave
My father me a present
2

(GS-RULE* CL-ARG1=ACT

($1 (@ARG1 $2) $3 GOV $4)

( (ROOT (& KLOCK *PASSIVE (MEM K '(VCL SCL PARTCL RELCL))))
(ARG1 (&ARG1 ASFLOCK (N== R'RREL)))
(GOV (& GOV CAT)))

($1 $3 GOV $4 (ARG1 $2))

((ARG1 (:= 0BJ1 SFLOCK))))

' = GS-RULE (structural generation)
= CL-ARG1 =ACT

=($1 (@4RG1 $2) $3 GOV $4) A



ARG1

ARG1 =

ROOT

1  ARG1 $3 GOV

A

$2
] Passive Voice

?

= ($1 $3 GOV $4 (ARG1 $2)) |

ROOT
1 GOV ARG1
$2
(ObjectD

My father gave me a present.

ROOT

P NP gave P

N

My father me a present

131



(GS-RULE* CL-ARG2=ACT

($1 ((8ARG2 $2) $3 GOV $4)

( (ROOT (& KLOCK APASSIVE (MEM K '(VCL SCL PARTCL RELCL))))

(ARG2 (& ARG2 ASFLOCK ARREL))

(GOV (& GOV CAT)) )

($1 $3 GOV $4 (ARG2 $2))

((ARG2 (:= OBJ2 SFLOCK) )))

= GS-RULE

= CL-ARG2=ACT

ARG2

= ($1 (OARG2 $2) $3 GOV $4) ~

ROOT

$1 ARGZ2 $3 GOV

A

$2

Passive Voice

= ($1 $3 GOV $4 (ARG2 $2)) £

ROOT
1 GOV ARG2

$2

ANHOUENIIATHUNNRN

ARG2 =

(Object2)

132

(structural generation)
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My father gave me a present.

ROOT

P gave NP N
My father :l présent me

5.2.7

| want two oranges

? Two oranges

(GS-RULE*NP-CARDP=AFTER

($1 (@CARDP $2) $3 GOV $4)

( (ROOT (& NP KLOCK))

(CARDP (& (OR CARDP) ASFLOCK))
(GOV (& GOV GOVLOCK) ))

($1 $3 GOV $4 (CARDP $2))

( (CARDP (:= ATG SFLOCK KLOCK) )))



134

= GS-RULE (structural generation)

= NP-CARDP=AFTER

$ = ($1 (@CARDP $2) $3 GOV $4) irg
ROOT
CARDP $3 GOV

A

¥

$ = ($1 $3 GOV $4 (CARDP $2)) *;
ROOT
7 GOV CARDP
$2
CARDP =
governor)

oranges two

(attribute of



(GS-RULE* NP=PENBIL

($1 (@NP $2 GOV $3 (CARDP $6) $4) $5)

((Np (& NP KLOCK))

(CARDP (OR CARDP (& DQTF ( == bul u(" , "))
(GOV (& GOV APENBIL CAT)) )

($1 (NP $2 GOV $3 (CARDP $6) CLF $4) $5)

( (GOV (:= PENBIL))
(CLF (:= (BUL (GOV BUL-PENBIL))))

(CLF (> (BUL (GOV BUL)))) ))

= GS-RULE (structural generation)
= NP=PENBIL
= ($1 (@NP $2 GOV $3 (CARDP $6) $4) $5)

ROOT

—
e e

$2 Gov $3 CARD $4

A

$6

= ($1 (NP $2 GOV $3 (CARDP $6) CLF $4) $5)

ROOT
/N
$2 GOV $3 CARD CLF %4

A

$6



GOV= PENBIL=T
CLF = (GOV) LL-DICT
DICT

NP

oranges two

5.2.8

5.2.8.1 (Determiner)

(DDEM) this, that, those, which, these

These books are mine.

These books

(GS-RULE NP-DEM

($1 @DEM $3 GOV $4)

( (ROOT (& NP KLOCK))
(DEM (& DDEM "CATLOCK =D))
(GOV (& GOV GOVLOCK)) )

($1 $3 GOV $4 DEM)

( (DEM (:= DES CATLOCK)) ))

LL-
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= GS-RULE (structural generation)
= NP-DEM
= ($1 @DEM $3 GOV $4) £

ROOT

1 DEM $3 GOV

= DDEM

= (S1 $3 GOV $4 DEM) £

ROOT
GQV DEM
DEM = (designation)
AP
books these
5.2.8 2 (Determiner)

(DPOS) our, his, her, your, my, their

This is my pen.

my pen
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(GS-RULE NP-SUBD=POS

($1 @POS $3 GOV $4)

( (ROOT (& NP KLOCK))
(POS (& DPOS ""CATLOCK CAT))
(GOV (& GOV GOVLOCK)))

($1 $3 GOV $4 POS)

( (POS (:= DES CATLOCK)) ))

= GS-RULE (structural generation)
= NP-SUBD=POS
= ($1 @POS $3 GOV $4) 8§

ROOT

POS $3 GOV

= 1 DPOS
$ ' = ($1 $3 GOV $4 POS) ~
ROOT
1 GOV DEM
POS = (designation)

pen my



528 3
1
(DDEF) the
2)
, an
3)
(DQTF) some, each, every, no
4)

which, whichever, whatever

| want some

(GS-RULE NP-CATA+CATD
($1 (5AD $3 GOV $4)

( (ROOT (& NP KLOCK))

139

(Determiner)

(DINDEF)

(DINT)

sugar.

some sugar

(AD (& ACATLOCK CAT (MEM D '(DQTF DINT DDEF DINDEF))))

(GOV (& GOV GOVLOCK)) )
($1 $3 GOV $4 AD)

((AD (:= CATLOCK) )))

= GS-RULE
= NP-CATA+CATD

' = ($1 @AD $3 GOV $4)

(structural generation)



ROOT

AD $3 GOV

= DQTF DINT
$ = ($1 $3 GOV $4 AD) £

ROOT

GOV AD

AD = Lock

AP
sugar some

5.2.8,4

black cat

DDEF

140

DINDEF



(GS-RULE* NP-APO
($1 (@AP $2 AGOV $5) $3 GOV $4)
( (ROOT (& NP KLOCK))
(AP (& (NULL SFLOCK) AP))
(GOV (& GOV GOVLOCK))
(AGOV (& GOV AADJB4))
$3 (N==K 'AP)))
($1 $3 GOV $4 (AP $2 AGOV $5))

((AP (:= ATG SFLOCK KLOCK))))

= GS-RULE (structural generation)
= NP-APO
$ = ($1 (@4P $2 AGOV $5) $3 GOV $4)
ROOT

N i

$2 AGOV $5
= ($1 $3 GOV $4 (AP $2 AGOV $5))
ROOT
1 GOV AP
/N

$2 AGOV $5

AP = (attribute of governor)



AP
cat black

52 8.5

a flower garden

(GS-RULE* NP-JUXTAAFTER
(S1 (@JUXT $2 JGOV $5) $3 GOV $4)
(ROOT (&NPKLOCK))

(JUXT (& JUXT ASFLOCK))

(JGOV GOV)

(GOV (& GOV GOVLOCK APROPER)) )
($1 $3 GOV $4 (JUXT $2 JGOV $5))

( (QUXT (:= COMP SFLOCK KLOCK))))

= GS-RULE

= NP-JUXT =AFTER

42

(structural generation)

1 = ($1 (@IUXT $2 JGOV $5) $3 GOV $4) £
ROOT
JUXT $3 GOV

$2 JGOV $5
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= (($1 $3 GOV $4 (JUXT $2 JGOV $5))

ROOT
GOV JUXT
/I\
$2 JGOV $5
JUXT = (complement of noun)
/\
garden flower
528 6
The  student's book
5.8.2.5 NP-JUXT=AFTER

NP

book student's

(GS-RULE* NPOS

($1 (@NPOS $3) $2)

((NPOS (& NPOS ( = CAT 'N))))
($1 POS NPOS $2)

( (POS (=(BUL" )

(NPOS (:= -NPOS))))



= GS-RULE
1 = NPOS

; = ($1 (@NPOS $3) $2)

; = ($1 POS NPOS $2)

1 POS
POS = " "
NPOS = NIL
Ap
book student

528 7

ROOT

S

NPOS

A

$3

ROOT

NPOS

(ADVN)

144

(structural generation)



a little cat

(GS-RULE NP-ADVN=AFT

($1 @4DVN $3 GOV $4)

( (ROOT (& NP KLOCK))
(ADVN (& ADVN ADVNAFT ACATLOCK =A))
(GOV (& GOV GOVLOCK)) )

($1 $3 GOV $4 ADVN)

( (ADVN (:= DES CATLOCK)) ))

= GS-RULE
= NP-ADVN=AFT
£ = ($1 (9ADVN $3 GOV $4) £
T~ ADVP
ADVNAFT
$ = ($1 $3 GOV $4 ADVN)

145

(structural generation)

ADVN



ADVN = ?

A
cat a little

5.2.9 ?

(GS-RULE* MAI-VERB/MODAL
($1 @VMA $2)
( (VMA (& NEG CAT (OR V MODAL)))
($1 (NMEM BUL ("
($1 MAI VMA $2)
(VMA
(COND ((& FUT PROG PERF)
(= ((MAI BUL) " "))

((OR PAST PERF)

(:= ((MAI BUL) " N
((FUT)
(:= ((MAI BUL) " "N

(T (= (MAIF BUL) " )))

(:= -NEG -ASPEK ) )))

= GS-RULE
= MAI-VERB/MODAL

£ = (%1 @QVMA $2) $

M)

(designation)

(structural generation)



VMA =

5.2.10

ROOT
7 A
? ?
= ($1 MAI VMA $2) |
ROOT
7 MAI  VMA $2

Future continuous perfect tense

Past perfect tense MAI

Future tense MAI "

? (Tense) ?

MAI

147
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(GS-RULE* PROG-0BJ1=NIL
($1 @VGOV $2)
((ROOT (MEM K '(VCL SCL RELCL PARTCL)))
(VGOV (& GOV V ANEG (TRUE ASPEK)))
($2 AARG1))
( 1B4 VGOV AFT $2)
(VGOoV
((== ASPEK 'KAMLANG)
(=(B4aBUL" ")
((== ASPEK "JA)
(=(B4BUL)" )
((== ASPEK'LEEW)
(= (AFT BUL) " "))
((== ASPEK 'DAILEEW)
(=(B4BUL)" ")
(AFT BUL) " .)))

(:= -ASPEK) )))

= GS-RULE ? (structural generation)

= PROG-0OBJ1 =NIL

= ($1 @VGOV $2)

ROOT

1 VGOV

= ($1 B4 VGOV AFT $2)



VGOV - ASPEK
ASPEK
ASPEK
ASPEK

AFT "

6.2

<cond-assignment> = (COND

149

ROOT

B4 VGOV AFT $2

‘KAMLUNG B4 “ ”
‘JA B4 “o)
'LEEW AFT oo
‘DAILEEW B4 oo
(GM-MODEL)
(conditional grammar)
(<condition> (assignment-sequence>)

(<condition> (assignment-sequence>)

(VN)
develop-development-
(AN)
dark-darkness-
(AM)

slow-slowly-
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. ’ (VNAG)
write-writer-
5. : (NN
"o member-membership-

6. Passive Voice

GM-MODEL

(*GM-GRAM MAR*
((COND
(N (WHEN AAFFIX
(IF VNAG (:= (AFFIX" ") (:= (AFFIX NAFX))))
(WHEN AAFFIX
(IF AN (:= (AFFIX" ) (:=(AFFIX NAFX))))
(WHEN AAFFIX
(IF VN (:= (AFFIX" ") (-(AFFIX NAFX))))
(WHEN AAFFIX
(IF VINGN (:= (AFFIX" ) (:=(AFFIX NAFX))))
(WHEN AAFFIX
(IF NN (:= (AFFIX" ) (-(AFFIX NAFX))))
(WHEN DOLLAR (:= (AFFIX *$.)))
(WHEN (& (== BUL “ ") (TRUE CARD-UL))

(:= (BUL CARD-UL) (AFFIX '_%))))

((& V AMODAL)

(WHEN (& ' affix PASSIVE) (:= (AFFIX" ™))
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